Introduction

The purpose of this report is to summarize work performed by the Byron Forest Preserve to receive payment on an FY2003 Small Projects Grant. The work consisted of removing undesirable woody vegetation from an old fencerow. The purpose of this effort was to preserve native prairie and protect nongame habitat. The goal was to restore a pre-settlement oak savanna adjacent to a high quality native prairie.

Materials and methods

Materials used in this project consisted of one Stihl 025, two Stihl 026 chainsaws, a John Deere 2555 with stump cutter, and a 743B Bobcat with a four-in-one bucket. Tordon RTU was also used. The smaller diameter woody vegetation was cut flush to the ground with chainsaws, larger diameter trees were cut with the stump cutter. All fresh cut surfaces were treated with Tordon RTU to discourage resprouting. Care was taken to identify and clearly mark all desirable trees to prevent unnecessary damage. Species retained included several red oaks, white oaks, an Iowa Crabapple, scattered native Black Cherries, and a few Hawthorns for Passeriformes nesting habitat. The Bobcat was used to transport cut brush to a central location and piled for burning at a later date. It should be noted that all Bobcat operation took place when the soil was frozen to minimize negative disturbance. The cleared area was then seeded with a dry savanna adapted grass and forb mix consisting of approximately 70% grass and 30% forbs. The grasses were predominately Little Bluestem, with Big Bluestem, Sideoats Grama, and Indian Grass included also. The forb portion consisted of nineteen species including Rough Blazing Star, Prairie Dock, Prairie Cinquefoil, and Purple Prairie Clover.

Results

The result of this project is that a fencerow consisting of common woody vegetation with little wildlife value has been replaced with the start of a native prairie restoration. The most immediate benefit of this effort is the adjacent remnant prairie will no longer be threatened by shading or invasion from undesirable woody vegetation. The long term results will be increased use by grassland adapted species and propagation of rare prairie plants including Wooly Milkweed.

Discussion

This project has many long term benefits including control of invasive species and protection of a high quality prairie from degradation. It is one of the few tasks in natural resource management that shows nearly immediate results. The methods used were designed to be as low impact as possible given the scale of the project. The purpose of this was to minimize damage to desirable vegetation and to provide quickest turnaround to desired habitat type.

Summary

The resulting benefits from this project far outweigh the labor and costs involved with its execution. The preservation of dwindling prairies and control of invasive, exotic, non-native, and opportunistic native plants is becoming more important as our natural areas are lost to development and degradation. This is why every effort must be made to complete projects such as this, as well as strive to increase scale of future projects.

The Byron Forest Preserve District recently completed work on a project that secures funds from the Illinois Department of Natural Resources. The project consisted of removing low quality woody vegetation from an old fencerow to restore a pre-settlement oak savanna. The work was done on a 298 acre Illinois Nature Preserve. Rules for managing a designated nature preserve dictate that the steward will work to restore the preserve to pre-settlement conditions, which requires removal of all exotic, invasive, opportunistic native, and non-native species. The trees removed consisted of common fencerow species including Box Elder, Black Cherry, Osage Orange, Honey and Black Locust. This action will help preserve native prairie and protect nongame species habitat. Several rare and state endangered species including Wooly Milkweed and Pasque Flower along with many other prairie plants and grassland adapted bird species will benefit from this effort. The IDNR will provide \$1000 to help offset the cost of labor on the project. IDNR funding was made available through the Wildlife Preservation Fund Small Project Grant program. This program receives funding through a voluntary check off to the Wildlife Preservation Fund on the state income tax form.

DIESEL (IN GALLONS) KEYTROL METER

OLF	MAINT. C	FF ROM	VD				GOLF N	AINT.	ON ROA	D		
(<u>a</u>	MAINT. C	3	.7	0	8	TODAY'S READING			<u> </u>			TODAY'S READING
la_	9		a	a	9	LAST READING						LAST READING
		2	4	17	9	FUEL USED			<u> </u>	<u> </u>		FUEL USED
			_	`		a555.24				_		
PARK	MAINT. C	OFF ROA		1-1	171	1	PARK N	AAINT.	ON ROA	ND T		7
 	10	뉫	10	18	5	TODAY'S READING			 	 -		TODAY'S READING
1	0	3	1	2		LAST READING			 	 -	}	LAST READING
L	<u> </u>	1	18	9	9	FUEL USED	L	<u></u>	<u> </u>	<u> </u>	l	FUEL USED
CAPIT	AL DEVE	EI OPME	NTS OF	F ROAD)	13.00						
0	18	5	8	Ta	6	TODAY'S READING					*	
0	18	ĬŬ	15	立	TT	LAST READING						
<u> </u>	1	1	3	1 2	5		. •					
<u> </u>		4		1.21.	6	FUEL USED 12/01/1	بع				_	
						•					1. Ozo	allon
						·					1. Del	
						KEYTROL MET	IER				1	
		TO	OTAL OF	F ROAL)	•			1	TOTAL ON F	ROAD	
		<u> </u>	7.9			_golf maint. \$232	<u>.03</u>					GOLF MAINT.
		·	97.	7		PARK MAINT. 4 10 .c	38_					PARK MAINT.
		1	33.	· ·		_CAPITAL DEVELOP.	13.16)				
						_ TOTAL						TOTAL
												
								_GRAN	ID TOTA	AL		
								PUMF	METE	R TOTAL		
						DATE CHECKED						DATE LAST FILLED
			+			_ DATE OFFICIALD						DVIE DV21 LIFTED
						FUEL USED FROM BILI	L DATED					PRICE PER GALLON
												
Di Ma	P METER	PEAD	NG								·	
<u> </u>	14	17	19	13	11	TODAYS BEADING						
Ö	14	15	14		++	TODAY'S READING						
15	- - -	+-:	113	1 4	+	LAST READING				*		
1	_ i	_1	14	1 1	1 ()	FUEL USED						

\$414.47

GASOLINE (IN GALLONS)

<u> </u>	•					KEYTROL ME	TER						01104103
	ſ					114 1 1110 E ITIE							
	AINT. O	FF ROA	\D				GOLF M	AINT. C	N ROA	D			
2	0	8	O	1	3	TODAY'S READING		5	9	6	4	0	TODAY'S READING
8	0	7	3	5		LAST READING		5	7	Q	7	9	LAST READING
}			<u>u</u>	5	4	FUEL USED			2	3	6	1	FUEL USÉD
APK N	MAINT. C	SEE BOA	AD.				PARK M	IAINT (ON BOA	n			
\hat{O}	1	9	8	6	18	TODAY'S READING		5	G	16	16	137	TODAY'S READING
Ö		a	B	3	3	LAST READING	1	5	9	1	3	2	LAST READING
<u> </u>		 -		U	15	FUEL USED			 	5	3	5	FUEL USED
					· · · · · · · · · · · · · · · · · · ·	.	<u> </u>		<u> </u>				•
<u>APITA</u>		LOPME	NTS OF	F ROAD	T	1	CAPITA	L DEVE	LOPME	NTS ON	ROAD		ו
$\frac{\mathcal{L}}{\mathcal{L}}$	a	3	18	B	4	TODAY'S READING	 		9 5	13	17	10	TODAY'S READING
0	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	13	-1-	19	5	LAST READING	 			12	 '	15	LAST READING
	L	L	L		h 2)	JFUEL USED	L:		14	10	1 1	15	FUEL USED
RESTC	RATION	OFF R	OAD			·	RESTO	RATIO	ON RC	AD			
0	O	8	2	0	8	TODAY'S READING	0	3	5	9	<u></u>	14	TODAY'S READING
0	0	8	T	6	0	LAST READING	0	3	5	14	9	14	LAST READING
				4	18	 FUEL USED				14	3	10	FUEL USED
						_	•		-	· ············		*	
								STRAT	ION ON		15	10	7
						•		7	1	15	13	12	TODAY'S READING
							0		l le	15	8	16	LAST READING
							L	<u></u>	<u> </u>	19	14	10	JFUEL USED
													1.01 pergallo
						KEYTROL M	ETER						1.0.4.0
			OTAL OI	FF ROA	D	0.131	F5()		T	OTAL C	N ROAI)	8
	Lo	<u>5,4</u>				_GOLF MAINT.			્રે	Zla.			_GOLF MAINT. 364, L
		11.5	y			_GOLF MAINT. 301.			45	35			PARK MAINT, \$ 111, 83
		٦,				•	_						
						CAPITAL DEVELOP. ¹	·		<u>ا) (د ا</u>				_CAPITAL DEVELOP LA
		4.8				_RESTORATION LIT	180		1.15	3. ()			_RESTORATION # 62.1
						00	1. 15		Ω	1.6			ADMINISTRATION * /]
						94.	(v)			1 : 5.0			ADMINISTRATION [] [
						TOTAL					 		TOTAL
								GRAN	ID TOTA	NL			
								PUM	METER	TOTAL			
								_' 01411	17112 1 2.1	· · ·	•		
						DATE CHECKED							DATE LAST FILLED
						FUEL USED FROM B	LL DATED		•				PRICE PER GALLON

· # JJ25.28 .

Grant Project Hourly Expenditures BFPD SHARE

 	DII D SHAK		
Employee	Hours Worked	Pay Rate	Total
Jan 17 2003			
J.R	8	10.00	80.00
C.B.	8	11.41	91.28
R.P.	4.75	8.50	40.38
E.S.	7.5	6.75	50.63
C.J.H.	8	11	88.00
Total			350.81
Jan 21 2003			
С.В.	8	11.41	91.28
С.Н.	4	10.33	41.32
C.J.H.	8	11.00	88.00
Total			220.60
Jan 22 2003			
С.В.	8	11.41	91.28
С.н.	4	10.33	41.32
C.J.H	8	11.00	88.00
Total			220.60
Grand Total	· ·		792.01

Fuel Expenditures

	I del D.	Apendical co	
Equipment	Gallons used	Cost per gallon	Total
Bobcat	30	1.03	30.90
Chainsaw	15	1.21	18.15
JD stump grinder	35	1.03	36.05
Total			85.10

Miscellaneous Expenses

		Quantity	Price per unit	Total
Chain sharpenin	1	3	4.00	12.00
	16"	8	3.50	28.00
New chains	20"	2	26.00, 2 nd ½ off	39.00
	16"	2	25.00, 2 nd ½ off	37.50
New chainsaw l	helmet	1	41.95-10%	37.76
Total				154.26

BFPD TOTAL EXPENDITURES

Labor		792.01
Fuel		85.10
Miscellaneous expenses	3	154.26
Total		1031.37

Grant Project Hourly Expenditures IDNR SHARE

Employee	Hours Worked	Pay Rate	Total
<u>Jan 10 2003</u>			
J.R.	8	10.00	80.00
C.B.	8	11.41	91.28
R.P.		8.50	68.00
E.S.	5.5	6.75	37.13
Total			276.41
Jan 16 2003			
C.B.	7	11.41	79.87
R.P.	7	8.50	59.50
E.S.	6	6.75	40.50
C.J.H.	8	11.00	88.00
Total			267.87
<u>Jan 20 2003</u>			
C.B.	8	11.41	91.28
С.Н.	4	10.33	41.32
C.J.H	4	11.00	44.00
Total			176.60
<u>Jan 23 2003</u>			
С.Н.	4	10.33	41.32
C.J.H	4	11.00	44.00
Total			85.32
<u>Jan 24 2003</u>			
C.B.	8	11.41	91.28
С.Н.	. 4	10.33	41.32
R.P.	7.5	8.50	63.75
Total	·		196.35
Grand Total	·		1002.55

ENDTOLES NY	MB Eliza	alet e	Bushart		emplo?	cee # <u>Co</u>	<u>7)</u> PA	Y PERIOD_	-4 THRU 1-17 , 20
DAY	DATE	HOURS	*CODE*		*CODE*	HOURS	*CODE*	TOTAL	COMMENTS
SATURDAY									
SUNDAY									
MONDAY	11/6	7.5	422					7.5	1422 fount trishlampis
TUESDAY									
WEDNESDAY		,		·					
THURSDAY	1/9	7.5	4 22					7.5	4 22 paint trash barrels
FRIDAY	1/10	\$2,5	422	5.5	4TRa	;	23	8	Hzz-paint trash barrek
SATURDAY									·
SUNDAY									
MONDAY									
TUESDAY									·
WEDNESDAY	1/15	8	422					8	YEE - Chainson min, print mach
THURSDAY	1/16		4TRA	2	472			8	422-Shaygan Chains
FRIDAY	1/17	W 52	4 TRail				255	7.5	
or finance us Eg <u>Ho</u>	e only - e						AL HOURS	46.5 NITIALS 3	<u>D</u> ,
MP	PERS	on				SUPE	RVISOR CO	MMENTS:	
	_ AAWO					·			
c	_ CMPUS	ED							
LIDA	_ SEASO	พ							
AL 465	+ CB	= TO:	TAL HOURS	460	50 .	EMPLO	YEE SIGN	ATURE Chy	let Swhat

EMPLOYEE NAM	Œ	CERRI	- 1/16		swaro:	CEE # <u>?</u>	<u>>√C</u> PA	Y PERIOD_/	/_ /	<u>/-/7</u> , 20	002
DAY	DATE	HOUR&	*CODB*	HOURS	*CODE*	HOURS	*CODE*	TOTAL	CON	QMENTS	
SATURDAY											
SUNDAY											
MONDAY	1-6	21	3N					14	INTERVIE	'W=	
TUESDAY	1-7	1	3N					Ч	(NEWVIE	W3	
WEDNESDAY		y.							• .		
THURSDAY											
PRIDAY	1-10	8	4/Ra					8			
SATURDAY							·				7
SUNDAY											
MONDAY	¥. ,										
TUESDAY										· · · · · · · · · · · · · · · · · · ·	
WEDNESDAY											
THURSDAY	1-16	7	4 TRa					7			
FRIDAY	i-17	2/3/4	4TRal			3	3Ge	7.5	retrieved	partsto	Jodd
or finance usi	e only - 1							30.5.	<u>F</u> .	. •	
OMP	_ PERS	ом				SUPE	ERVISOR CO	MMENTS:			
ICK	_ AAWO					 i	<u> </u>				
\C	CMP U	SD	,					· · · · · · · · · · · · · · · · · · ·			
)LIDA	SEASO	านหด					•		11/1)	
TAL 46.50	+ CB	= TO?	TAL HOURS	46.5	<u> </u>	EMPLO	YEE SIGN	ATURE / /	<u> </u>		

employee name	701	BERT	FRO	5	EMPLO:	(ee #	PAY	PERIOD_	THRU	, 20_
DAY	DATE	HOURS	*CODE*	HOURS	*CODE*	HOURS	*CODE*	TOTAL	COMMENT	S
SATURDAY										
SUNDAY										
MONDAY										
TUESDAY	<u> </u>									
Wednesday									· ·	
THURSDAY		•								
PRIDAY 4	厂之北	75	TRA!							
SATURDAY									•	
SUNDAY										
MONDAY										
TUESDAY									· · · · · · · · · · · · · · · · · · ·	
WEDNESDAY										
THURSDAY										
PRIDAY	ť									
OR FINANCE USE		DO NOT WE					CAL HOURS	ITIALS	<u>-</u> ·	
ОМР	PERS	0N				SUP	ERVISOR CO	mments:		
ICK	OWAK									
1C	CMPU	SD				 				
)LIDA	SEAS			_				(R2)	W/10/12	<i>j</i>
)TAL	- CB	TO	TAL HOURS			EMPI	OYEE SIGN	TURE VIE		~

EMPLOYEE NAME CONTROL		
	الروم المجمع	

EMPLOYEE #/-360 PAY PERIOD /-18 THRU /-3/, 2003

DAY	DATE	HOURS	*CODE*	HOURS	*CODE*	HOURS	*CODE*	TOTAL	COMMENTS
SATURDAY									
Sunday								·	
MONDAY	1-20	4	YTZE					4	
TUESDAY	1501	4	4TRa				·	4	
Wednesday	1-22	4	4TRA					4	
THURSDAY	1-03	4	ATEa					4	
PRIDAY									
SATURDAY									
EUNDAY									
onday .									
UESDAY									
ednesday									
Hursday								·	
RIDAY									

OR FINANCE	USE ONLY - DO NOT WRITE IN BOX	TOTAL HOURS				
EG	AAW REG/PT	SUPERVISOR INITIALS				
OMP	PERSON	SUPERVISOR COMMENTS:				
ıcx _	ОНАЯ					
AC	CMPUSD					
LIDA	season	$\alpha \sim 10$				
TAL	+ CE = TOTAL HOURS	EMPLOYEE SIGNATURE Charles Nation				

DAY	Date	HOURS	*CODE*	HOURS	*CODE*	HOURS	*CODE*	TOTAL	COMMENTS
SATURDAY	1-4	2				1	CÉ	2	Show place
SUNDAY	1-5	4					9.0	4	Stra Flow
MONDAY	1-6	8	4.22	1				8	This house XMS Co
TUESDAY	1-7	8	4-22	?	÷			8	work orders to
WEDNESDAY	1-8	12	4-22	6	7-12			8	XMS-Stuf From JA
THURSDAY	11-9	18	7-4				,,	8	972
FRIDAY	, - 10	8	4-TRO				(HU)	8	(Ele+3 (9)
SATURDAY	1-11	1-		-	,	-	-		
UNDAY	1-12	1-	,		· <u>··</u> •••			La San Caracter Control	and the same of th
ONDAY	1-13	7	7-A					රි	9.72
UESDAY	1-14%.	195/2	3-N	6,	7-12	(.56+	350	10/010	Snow Plow 972
ednesday	1-15		7-A						972
HURSDAY	1-16		4-ZZ	7	4-TRQ				chip xms Tree
RIDAY	1-17		4-TR2				(12)		E7-11 (3)

'OR F	INANCE USE ONLY - DO NOT	WRITE IN BOX	TOTAL HOURS 88 1
EG	<u>50</u> aaw	REG/PT	SUPERVISOR INITIALS
OMP	Person		SUPERVISOR COMMENTS:
ICK	AAWO	· 	
AC ·	CMPUSD	_	
DLIDA		TOTAL HOURS 12	EMPLOYEE SIGNATURE CONS ON BURGER

* EMPLOYEE NAME Carson Breeden EMPLOYEE # B.300 PAY PERIOD 1-18 TERU 1-31, 2003

DAY	Date	HOURS	*CODE*	HOURS	*CODE*	HOURS	*CODE*	TOTAL	COMMENTS	,
SATURDAY	1-18									
SUNDAY	1-19									
MONDAY	1-20	8	LITRA)				5	Prairie	
TUESDAY	1-21		4 TRA					8	Prairie	
WEDNESDAY	1-22	8	3.6 tr					8	cuttrees 6 F Fa	iru
THURSDAY	1-23	1.8	3-6-Tr					8	Cuttrees 6 F Fo	-u
FRIDAY	1-24	8	4-TRO						Prairie	
SATURDAY	1-25		4		((·	
SUNDAY	1-26		_				-			
ONDAY	1-27	8	3-6-7-					8	CH+Chip Tree 5	رسي و
UESDAY	1-28									
ednesday	1-29									
EURSDAY	1-30									•
RIDAY	1-31									

'OR FINANC	E USE ONLY - DO NOT WRITE IN BOX	TOTAL HOURS
EG	AAW REG/PT	SUPERVISOR INITIALS
omp _	PERSON	SUPERVISOR COMMENTS:
ıcx _	AAWO	
.c _	CMPUSD	
DLIDA	SEASON	·
TAL	+ CB = TOTAL HOURS	EMPLOYEE SIGNATURE CONSON BARRESEN

EMPLOYEE NA	MR Jim	~ K	EED) -	EMPLOY	cee # <u>L</u>	090 p	AY PERIOD	- / THRU /- / / , 20_
DAY	DATE	HOURS	*CODE*		*CODE*		*CODE*	TOTAL	COMMENTS
SATURDAY	1-4								
SUNDAY	1-5								
MONDAY	1-6	8.0	422					180	AND CARDS
TUESDAY	11-7	8.0	422	-				80	
WEDNESDAY	11-8	20	422	6.0	# 24	1		8.0	772
THURSDAY	1-9	8.0	74					8.0	972
FRIDAY	1-10	8:0			41 KA	r		8.0	CU+ 18505
SATURDAY	1-11								
SUNDAY	1-12								
MONDAY	1-13	8,0	74					8,0	972
TUESDAY	1-14	201	311	00	TA			8,0	972 INGUING
vednesday	1-15	80	7A					8.0	972
HURSDAY	1-16	1.0	422'	7.0	YTRA			80	MoChip XM45
RIDAY	1-17	800	PTRA					8,0	Chip TREES
R FINANCE US	E ONLY - DO	O NOT WR	ITE IN BO	х Х		TOTA	AL HOURS	80.0	
40	AAW		REG/PT			SUPI	ERVISOR :	INITIALS	B .
P	PERSO	NN				SUPE	RVISOR C	COMMENTS:	
K	AAWO								
	CMPUSI	D							
DA	SEASON	N						/)	
r 80	_		TAL HOURS	<u>80</u>	<u>)</u>	EMPLO	YEE SIG	NATURE 6	my A. Freed

JRCHASE AUTHORIZATION REQUEST

CHANA SAW & STOVE

5550 E. CANFIELD RD. CHANA, IL 61015 (815) 732-6581

x Exempt No. E9980-5995-03

MON. - FRI. 9-6

SAT. 9-12

ırchase Nº 27230

Customer's 9 D 9 9	\sum_{a}			2.00		~ •
Order No	Leb-	0.7-0	<u> </u>	<u>nm a</u>	aux Sto	JC
Nome Bount over Prese	me		- ,	550 6	carrield	Dol
Address Byron Ill.			_ `	<u> </u>	wyara	<u> RDI · </u>
QUAN DESCRIPTION	00105					
	PRICE	AMOU		ر ا	Sta	ate
I fuel filter complete	708		33)15		·
1 0122 - 656-7700-chim	alik	20	<u></u>	71 7		
1 9022-313-0680- screw			29			
1 9022 - 341 - 1400 Soul			41			
1 9210-319-0900 mut			27	Return che	ck to department	supervisor
0240	: -0	10	74	chased	Unit Price	\$ Amount
	_io>	1	2			5 33
Errave A Code		7	X 2			2 02
2-26-03 NECTAN (Chie)	Y 					1 09
63-100-508 AUDI 7F #21	330			-	1	141
ENISHAU						1 09
(EALE & HATHLE)						
CIAT THUCKIT PAID						
C:::20X #						
DATE & INITIALS						
				 		
All claims and returned goods MUST be accompanied by this bill.	}					
Received / //						
By 1 m 2	TOTAL					
Thank You	1	<u></u>			_	<u> </u>
						<u> </u>
		· · · · · · · · · · · · · · · · · · ·		·		-
		·i	CHID	PING	\$	<u></u>
						95
			TOTA	\L	\$ 9.	<u> </u>
the star				arr		
Approvals: Dept. Head (Required for all purchases.)		xecutive Required if	_		2/10/	192
(Required for all purchases.) DATE 2/12/01		4404 11	• • • • • • • • • • • • • • • •	,	DATE <u>ペ//<i>3/</i></u>	<u>U /</u>

Material Safety Data Sheets are required for all chemical orders.

CHANA SAW & STOVE

5550 E. CANFIELD RD. **CHANA, IL 61015** (815) 732-6581

MON. - FRI. 9-6

SAT. 9-12

CHASE AUTHORIZATION REQUEST

Exempt No. E9980-5995-03

hase No

Customer's Date Date	w-27 03	a Sru	NE Stov	C
Name Byron Forest Pres	erre		•	
Address	122	<u> </u>	mula	Ra.
239	1-8535			
	PRICE AMOU	NT	Sta	ite <u>ŜL</u>
2 oil caps - pickos	55 11.	10		110 <u>SC</u>
6 site cover mutality	36 8.	16	<u> </u>	
1 oil cap - Cher C26 reported		55		
BO.	026 83	38		
1 9512-933-2260 homing	7		to department	supervisor
3 1127 -162 - 3000 nitures		hased	Unit Price	\$ Amount
3 coop -997-5626 spring		<u> 27</u> ———		
1121-162-1001 comer line	- 11	55		<u> </u>
1 112) -007-1037 rungar		95 Jr		33.45 9.95
1 and line prop opening	(1 6 6 1 dh	57 ——		
3	-102 196	644		41.95
9	176	78 could		1, - '
Jalos sparing The 026	32	00		
Sharpen 3 20' Chains	12	SO TOME		
Sharpen 5 - 62 others were the	y. 28	20		
2 20 chains reg 26 can - 2 ni chair	6.6 - 32	00		
2 16" 325 - ref 25 en - 2 war @ 1/2/	ment 37.	50 111.1.2)		
All claims and returned goods MUST be accompanied by this bill. Received		4.5		
By .	TOTAL 325	[48] 		
Shorten chin 2-06-03		50 THIS		
inant you	\$ 328.	98		
		····		200
V les	s 1090 d	Iscount		27.25
01 041 617 \$198.62		SHIPPING	\$	
63 100 617 \$ 198.62		TOTAL	\$ 39	7.34
-1 AA 1 A.	•	Chille	1114	,
Approvals: Dept. Head	Executive (Required if	Director <u>CAULU</u>	Wy alia	102
(Required for all purchases.) DATE 2-11-03	(Kequired If	Over about) DA	ATE 6/2/12	03

CHANA SAW & STOVE 5550 E. CANFIELD RD. CHANA, IL 61015 (815) 732-6581

MON. - FRI. 9-6

SAT. 9-12

Exempt No. E99

hase No

Customer's 26625 Order No. 26625 Date	Feb	06 –E	3	na Sa	<u>w</u>
Name Syron Force P. Address	reter	ive;		3 E C	My
	-				
QUAN DESCRIPTION	PRICE	0.0401	IN IT		
	FRICE				
Topony prolection	ļ	23.	95).	
# 0000 J886 - 0406 -		-			
1. Occe - 886 - 1109 -		9.	95		
I holmat sexten			95		
	1	+	हर्ड	Return che	ck to de
	10%			hased	Uni
	102		59		
		681	26		
	 			<u> </u>	
	` .				
	1			10	
				- C340	
					
	 			·	
				$\hat{J}_{i}(0,0,2)$	
All claims and returned goods MUST be accompanied by this bill.			-	- 1111111111111111111111111111111111111	
				PAD	
By Toll 1 h	TOTAL				
There sul	IOIAL			113	
Thank You					
					
V les	SS 1()40 C	115 C	ount	
01 041 617 \$198.62			SH	IPPING	\$
~ 8 10 h h2			TO	TAL	\$
63 100 617 148.00					1
-1.1d 1 h		Executive	Diroct	or Edille	X [L
Approvals: Dept. Head		(Required i			
(Required for all purchases.) DATE 2-11-03		/ ·		7	DATE











